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S B R IR AN T # 16,000 # 1,900 - # 20 # 300 # 300 #5 17,000
15 A
. BH R RE #5 16,000 #5 1,900 5 200 # 20 5 300 # 300 # 17,000
218
R BH B ERSHEUA (T #3 16,000 # 1,900 - # 20 # 400 # 300 # 17,000
EREE
e BH R RE # 16000 [ # 1,900 5 200 # 20 3 400 # 300 # 17,000
1o BRAEIXREDS—RD-OLEHTERT




[H24.8.29NEFAKFEER]
(=T ERAT—R+EF:4—R@D-B) BAIE

BREtr—R (hEE): BRI —R) EYEE - & E8 e YRERfE a5t
o iR 8% - AR = ETUE =F
S BH B RSIEUNIT # 23,000 # 2,600 - # 30 # 40 # 10 #5 23,000
T
Ja— BREARSRIK #5 23,000 # 2,600 # 200 # 30 # 40 # 10 # 23,000
- BH B RS TN #1 23,000 # 2,600 — # 30 # 60 # 10 # 23,000
JELER8m/ s
REARSRIE #5 23,000 # 2,600 9 200 % 30 # 60 # 10 # 23,000
S ELHARE s R B E AT # 17,000 %5 2,000 - # 10 # 50 # 200 # 17,000
T 14
@ - REARSRIE # 17,000 # 2,000 # 200 # 10 # 50 # 200 # 17,000
' ELHARE s SR R AN # 17,000 # 2,000 — # 10 % 90 # 200 # 17,000
JELER8m/ s
BEARSRIK # 17,000 # 2,000 # 200 # 10 # 90 # 200 # 17,000
S BRI A T # 16,000 # 1,900 - # 20 # 300 # 300 # 17,000
14
- BEARSRIE # 16,000 # 1,900 # 200 # 20 # 300 # 300 # 17,000
S ELHAR s SRR AN # 16,000 # 1,900 — # 20 # 400 # 300 # 17,000
JELER8m/ s
BEARHEE # 16,000 # 1,900 5 200 # 20 5 400 # 300 #5 17,000
TR BH RS RTHFUN T #9 23,000 # 2,600 - 5 30 # 40 # 10 #5 23,000
14
Ja— REARSRIK #1 23,000 # 2,600 # 300 # 30 # 40 # 10 # 23,000
h BH RS RGHFUN T %5 23,000 # 2,600 - # 30 # 60 # 10 #5 23,000
JELER8m/ s
BHAR S RIE # 23,000 # 2,600 # 300 # 30 # 60 # 10 # 23,000
BHAR SR HFUN T # 17,000 # 2,000 - £ 10 # 50 # 200 # 17,000
E 5 EE
@ " BERHEE # 17,000 # 2,000 3 200 # 10 # 50 # 200 # 17,000
B 12
BH RS RGHFUN T # 17,000 # 2,000 - # 10 # 90 # 200 # 17,000
JELER8m/ s
BH RS RIE # 17,000 # 2,000 5 200 # 10 # 90 # 200 # 17,000
S BRI A T # 16,000 #5 1,900 — # 20 # 300 # 300 # 17,000
14
- BEARSRIE # 16,000 # 1,900 # 200 % 20 #5300 # 300 # 17,000
. ELHARE s SR R AN # 16,000 # 1,900 — # 20 # 400 # 300 # 17,000
JELER8m/ s
BEARSRIK # 16,000 # 1,900 # 200 # 20 # 400 # 300 # 17,000
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(BEHS5—6) BTN TE (EMESIRER) Otk [H24.8 29N A &iER]
(hE . EEXKF5—X) EIEESY) R KIE

RE 7 — R GBEE: RRr—2) —
fEh BRI R Rias s -
2R 4 R 9 2,800 9 4,300 % 300 # 40 % 20 % 7500
= EE8m/s # 2,800 #9 4,300 # 300 # 40 # 20 % 7500
5 ER 9 2,800 #9 4,300 % 300 # 40 # 20 % 7500
@ 51285
ELE&TI/S ﬁ‘g 2,800 ,!ﬁ{] 4,300 ﬁ:&J 300 ﬁ@ 40 :!ﬁ{] 20 ﬁﬁf_j 7,500
2188 15 EE 5 2,800 #9 4,300 % 300 # 40 400 % 7.900
2 s JEl,iE8m/s ﬁ‘g 2,800 ,!ﬁ{] 4,300 ﬁ:&J 300 ﬁ@ 40 ﬁt"] 600 ﬁt’ﬂ 8,100
o 15 R #9 2,800 # 4,300 # 700 % 40 4 20 & 7800
= JEE8m/s 9 2,800 #9 4,300 # 700 # 40 % 20 % 7800
5 ER 9 2,800 #9 4,300 # 700 # 40 % 20 % 7.800
©) 1285
JEE8m/s # 2,800 % 4,300 # 700 % 40 4 20 @ 7800
2188 5 ER 9 2,800 #9 4,300 # 700 # 40 £ 400 #8300
2 s JEl,iE8m/s ﬁ‘g 2,800 ,!ﬁ{] 4,300 ﬁ:&J 700 ﬁ@ 40 ﬁt"] 600 ﬁt’ﬂ 8,500
BB 4 ELE 5 2,800 #9 4,300 # 900 # 40 % 20 % 8100
25 FEE8m/s #9 2,800 #4300 % 900 % 40 @ 20 @ 8.100
15 & # 2,800 # 4,300 # 900 % 40 4 20 @ 8100
@ 128
ELE&TI/S ﬁ‘g 2,800 ,!ﬁ{] 4’300 ﬁ:&J 900 ﬁ@ 40 :!ﬁ{] 20 ﬁﬁf_] 8,1 00
£188 S EE 5 2,800 #9 4,300 # 900 # 40 % 400 % 8500
218 AE8m/s #5 2,800 #4300 # 900 % 40 4 600 @ 8700
e F 1 R #9 2,800 # 4,300 # 1,000 40 % 20 4 8200
2P JALE8m/s 5 2,800 7 4,300 # 1,000 % 40 # 20 % 8200
T4 ER 9 2,800 #9 4,300 # 1,000 # 40 # 20 4 8.200
® 128
E.#E8m/s # 2,800 #4300 # 1,000 % 40 4 20 & 8200
£188 T4 EE 5 2,800 #9 4,300 # 1,000 # 40 % 400 % 8,600
218 JRE8m/s #3 2,800 # 4,300 # 1,000 % 40 4 600 @ 8800
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[H24.8. 29 NFEIFF A FKFEE]

==, —_—
(# e BEQIS—X) R KIE
BWEHr—X (HhEE): BER—X) £ 4
— Zh AL i R g5 &3t
EIK iR A
J— F 1 ESE # 37,000 # 4,600 #5300 # 100 9 1,100 #9 43,000
h E8m/s % 37,000 #4600 # 300 # 100 # 1800 % 44,000
1 R E # 37,000 # 4,600 #5300 # 100 # 1,700 #9 44,000
D H128%
EE8m/s # 37,000 % 4,600 # 300 # 100 % 2,700 %) 45,000
- i EE #5 37,000 # 4,600 #3 300 3 100 # 10,000 #9 52,000
218
EE8m/s # 37,000 % 4,600 # 300 # 100 # 12,000 #) 54,000
- i EE #1 37,000 # 4,600 # 600 # 100 9 1,100 #9 44,000
P73
E5E8m/s # 37,000 % 4,600 # 600 # 100 # 1,800 # 44,000
i EE #1 37,000 #5 4,600 5 600 5 100 9 1,700 #9 44,000
©) H128%
EE8m/s # 37,000 % 4,600 # 600 # 100 5 2,700 #5 45,000
&85 i EE #5 37,000 #5 4,600 #5 600 £ 100 #5 10,000 #9 53,000
218
EE8m/s # 37,000 # 4,600 # 600 # 100 # 12,000 #) 54,000
- i EE #1 37,000 # 4,600 #5 800 # 100 9 1,100 #9 44,000
P73
AE8m/s # 37,000 # 4,600 # 800 # 100 %5 1,800 #5 45,000
i EE #9 37,000 # 4,600 #5 800 # 100 #5 1,700 #9 45,000
@ H128%
B E8m/s #9 37,000 5 4,600 #5 800 # 100 5 2,700 5 46,000
. i EE #5 37,000 #5 4,600 #5 800 £ 100 #5 10,000 #9 53,000
2.18H
EE8m/s # 37,000 # 4,600 # 800 # 100 # 12,000 #) 55,000
J— i EE #5 37,000 # 4,600 #5900 3 100 9 1,100 #9 44,000
2
E5E8m/s # 37,000 % 4,600 # 900 # 100 # 1,800 %5 45,000
i EE #9 37,000 # 4,600 #5 900 # 100 #5 1,700 #9 45,000
® H128%
EE8m/s # 37,000 # 4,600 # 900 # 100 # 2,700 % 46,000
£1g8 5 EE 5 37,000 #5 4,600 £ 900 £ 100 #5 10,000 #9 53,000
218
EE8m/s # 37,000 # 4,600 # 900 # 100 # 12,000 #) 55,000
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[H24.8. 29 NFEIFFAFKFEE]

(ZF)HBTRRKRELGIEE LM BkiE
ST/ 655 654 654 654 654 654 655
& 653 63& 65 65 63& 654 554
Wit 653 654 653 653 654 654 558
EEFh 558 654 655 655 655 654 554
gEFH 653 7 654 655 654 7 554
SHET 653 654 654 654 654 654 653
E 9aVA\Y olsi] 65& 65& 65& 7 65& 7 55&
=2 653 7 653 653 658 7 653
ING BB L EET 653 654 653 653 653 654 558
INGER/NE ST 653 654 653 655 654 654 558
RHEEB=AHT 653 654 655 654 654 654 554
EF ) ZBE SHT 65 65 65 65 65 653 555
fEIERF L 2 HT 653 654 653 653 654 654 558
TR AERE) | BT 53& 658 65 658 658 653 53&
fh % EARE T HT 558 655 655 558 658 655 558
h % E AN % BT 653 654 653 653 654 654 554
HhZEMEADSE 653 653 653 654 653 654 653
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